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1. KoopanHaTbl BEKTOpa No KoopaAnHaTam
Havyana VS
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% (-2;7) (x5 -3) (8,5;9)

B 35 -6) (65 -4) (X553 Vp)

AB x; ) (10;5} | {-14;3,5)

1) x=x,-x,23-(-2)=5; y=y,-y,=-6-7=-13.
aB(5; -13)

2) x=x-X,; V=I/ESREE(0) = 1.
10=6-x,;
xA=-4.

AB(10; 13,  A(4; -5)

3) X=XB_XA; .V=.VB‘.VA;
14,5=x,-85 39=y,-9
X, = -6. yg=12,3.

B(-6; 12,5)




2. KoopavHaTtbl cepeguHbl
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2 0042y |
o%1; 6}

(O + OB){5; 8}
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B(1; 6)

Cix; y)-?

C(2,5; 4)
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C — cepenuna MN
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B | 9 | (8- | (63

l)xC:xA;xB:3;3:3;yC:yA;—yB:_5+2(_7):_6.
C(3; -6)
X, +x y,+y, 1+(-5)
2 =4 B. = = =-2.
)xC 2 9 yC 2 2
2:xA+(_8).
2 b
x,=12. A(12; 1); C(2; -2)
2)xC:xA;xB; yC:yA';.VB;
4_xA+(_6); —llzyA+(_3);
2 2

x, =14 y,=-19. A(14; -19).



3. .El,nMHa BeKTopa no ero

0A{3 pdq
0| - 2

0A(3; 4)
A(3; 4)

| = 04

0OA> =0B” + AB’;
0A4° =3 +4° =25;

_ 25 =

3




4. PaccTosiHne Mmexay AByms

48| = AB

AB =.x’+y
X=x,—-x,=1-4=-3;]
y=yp=y,=6-2=4.1]
AB|=(+3) +4> =25]
AB =5.

MN = (xy—x,,) +(¥y =90 )




M(x,;5 Yy
NX 3PN

X, + X
— M N .
- 9yc

C - cepeauHa

:.VM+.VN.
2




